t20_mesfunc9 (TMd-
PLwbPUcDJx8kb3EAK267hehrLiyBNxDP)

October 27, 2020

Let vl_xboole 0 : =0 be given. Let vl_prob_1 : t=t=>0 be given. Let
vd_prob_1 : 1=>1=-0 be given. Let m1_subset_1 : t1=>1=-0 be given. Let k1_zfmisc_1 :
1=t be given. Let m2_subset_1 : 1=1=1=-0 be given. Let vl_funct_.1l : 1=0
be given. Let vl_funct2 : 1=1=1=-0 be given. Let kb_numbers : ¢ be
given. Let k4 _partfunl : (=1= be given. Let k7_numbers : ¢ be given.
Let k2_zfmisc_1 : 1=1= be given. Let v7_ordinall : t=0 be given. Let
vl-mesfunc8 : 1=1=1=>0 be given. Let rl_tarski : t:=t=0 be given. Let
kl_relset.1 : 1=1=-1 be given. Let kd_-mesfunch : 1=1=1=1=>1 be given.
Let k6_numbers : ¢ be given. Let rl_mesfuncl : 1=1=1=1=-0 be given.
Let r2_relset_1 : 1=>1=>1=-1=>0 be given. Let k2_partfunl : t:=1=1=>1=>1 be
given. Let v10_valued-0 : t=>0 be given. Let v6_supinf_-2 : t=0 be given. Let
vd_measurel : t1=1=>1=0 be given. Let k9_subset_1 : t=>1=-1=1 be given. Let
k3_xboole 0 : 1=>1=-1 be given. Let k1_zboole 0 : 1 be given. Let k3_rfunct_3 :
t=>1= be given. Let vl_relat_1 : t:=>0 be given. Let vd_relat_1 : :=1=-0 be
given. Let vb_relat_1 : t=>1=0 be given. Let vl_partfunl : t=>1=-0 be given.
Let v2_valued_0 : t=0 be given. Assume the following.

VX0.(—vl_zboole 0 X0)=(VX1.((—vl_zboole 0 X1)A
((v1prob1 X1 X0)A((vd_prob-1 X1 X0)A(ml_subset-1 X1 (kl_zfmisc-1
(kl_zfmisc1 X0)))))=(VX2.(v1-funct-1 X2)A((v1_funct2
X2 X1 k7 numbers)A((v10valued-0 X2)A((v6_supinf_2 X2)A((vd-measurel
X2 X0 X1)A(ml_subset_1 X2 (kl_zfmisc_1 (k2_zfmisc.1 X1 k7_numbers))))))))=
(VX3.(v1-funct-1 X3)A(ml_subset-1 X3 (kl_zfmisc.l (k2_zfmisc_1
X0 k7_numbers))))=(VX4.(m2_subset_1 X4 (k1_zfmisc.1 X0)
X1)=(VX5.(m2_subset_1 X5 (kl_zfmisc.1 X0) X1)=(((r1-mesfuncl
X0 X1 X3 X4)AN(X5 = k9_subset_1 X0 (klrelset.1 X0 X3) X4))=(rl_-mesfuncl
X0 X1 (k2_partfunl X0 k7_numbers X3 X4) X5)))))))
1)
Assume the following.

VX0.VX1.(rltarski X0 X1)=(k3_zboole 0 X0 X1 = X0) (2)



Assume the following.

VX0.VX1VX2VX3.((ml_subset-1 X2
(kl_zfmiscl (k2_zfmisc_1 X0 X1)))A(ml_subset_1 X3 (kl_zfmisc-1
(k2_zfmisc.l1 X0 X1))))=((r2-relset.1 X0 X1 X2 X3)=(X2=X3))

(3)

Assume the following.
VX0.VX1VX2.(ml_subset-1 X2 (kl_zfmisc_1 (@)

X0))=(k9_subset_1 X0 X1 X2 = k3_zboole_0 X1 X2)

Assume the following.
k6_numbers = k1_zboole_0 (5)

Assume the following.
VX0VX1.k3rfunct3 X0 X1 = kd_partfunl X0 X1 (6)

Assume the following.

VX0.YX1.((—vlzboole 0 X1)A((v1_prob-1 X1 X0)A
((vdprob-1 X1 X0)A(ml_subset-1 X1 (kl_zfmisc_1 (kl_zfmisc_1
X0)))))=(3X2.(ml_subset_1 X2 (kl_zfmisc-1 (k2_zfmisc_1
X1 k7_numbers)))A((vlrelat-l X2)A((vd-relat-1 X2 X1)A((vb-relat_1
X2 k7 numbers)A((vl_funct-1 X2)A((—vl_zboole 0 X2)A((v1_partfunl
X2 XDA((vl_funct2 X2 X1 k7_numbers)A((v2valued-0 X2)A((v10valued-0
X2)A((v6_supinf_2 X2)A(vd-measurel X2 X0 X1))))))))))))
(7)
Assume the following.
vl_xboole 0 k1_zboole 0 (8)

Assume the following.

VX0.VX1.((—vlxboole-0 X0)A((—vl-xboole-0 X1)A
(ml_subset_-1 X1 (kl_zfmisc.1 X0))))=(VX2.(m2_subset_1 9)
X2 X0 X1)=(ml_subset-1 X2 X0))

Assume the following.

VXO0VYX1YX2.YX3.(((v1_funct 1 X2)A
((vl_funct-2 X2 k5_numbers (k3_r funct-3 X0 X1))A(ml_subset_1
X2 (kl_zfmiscl (k2_zfmisc1 k5_numbers (k3_rfunct-3 X0 X1))))))A
(v7-ordinall X3))=((vl-funct_1 (k4d-mesfunch X0 X1 X2 X3))A(ml_subset_1
(kd_mesfunch X0 X1 X2 X3) (kl_zfmisc_1 (k2_zfmisc.1 X0 X1))))
(10)
Assume the following.

VX0.VX1VX2VX3.(vl-funct.1l X2)A
(ml_subset.1 X2 (kl_zfmisc.1l (k2_zfmisc.1 X0 X1))))=((vl_funct-1
(k2_partfunl X0 X1 X2 X3))A(ml_subset_1 (k2_partfunl X0 X1 X2 X3)
(kl_zfmisc1 (k2_zfmisc_1 X0 X1))))
(11)



Assume the following.

VX0VX1VX2.((vl_funct-l X2)A((v1_funct2
X2 k5 numbers (kd_partfunl X0 X1))A(ml_subset_1 X2 (k1_zfmisc_1
(k2_zfmisc1 k5_numbers (kd_partfunl X0 X1))))))=((vl-mesfuncs
X2 X0 X1)e(VX3.(vT-ordinall X3)=(VX4.(v7_ordinall
X4)=(kl.relset.1 X0 (kd-mesfunch X0 X1 X2 X3) = kl_relset_.1 X0 (kd-mesfunch
X0 X1 X2 X4))))

(12)

Assume the following.
VX0.VX1.k3_zboole 0 X0 X1 = k3_zboole.0 X1 X0 (13)

Assume the following.
VX0.(vl-xboole 0 X0)=(v7-ordinall X0) (14)

Assume the following.
VX0.(vl_zboole 0 X0)=(VX1.(ml_subset.1 X1 (kl_zfmisc_1 (15)

X0))=(v1l_xboole-0 X1))

Theorem 1

VX0.(—vl_zboole.0 X0)=(VX1.((—vl_zboole.0 X1)A
((vlprob-1 X1 X0)A((vd_prob-1 X1 X0)A(ml_subset_1 X1 (kl_zfmisc_1
(kl_zfmisc1 X0))))))=(VX2.(m2_subset_.1 X2 (kl_zfmisc-1
X0) X1)=(VX3.(v1-funct-1 X3)A((v1_funct-2 X3 k5_numbers
(k4d_part funl X0 k7_numbers))A(ml_subset_1 X3 (kl_zfmisc_1 (k2_zfmisc_1
kE5_numbers (kd_partfunl X0 kE7_numbers))))))=(VX4.((v1_funct_1
XHNA((v1i-funct2 X4 k5_numbers (k4_part funl X0 k7_numbers))A
(ml_subset-1 X4 (kl_zfmisc_l (k2_zfmisc_1 k5_numbers (k4_partfunl
X0 k7_numbers))))))=(VX5.(v7_ordinall X5)=(((vl-mesfuncs
X3 X0 k7_numbers)\((rl_tarski X2 (kl_relset.1 X0 (k4_-mesfunch
X0 k7_numbers X3 k6_numbers)))A(VX6.(v7_ordinall X6)=
((r1-mesfuncl X0 X1 (k4-mesfunch X0 k7_numbers X3 X6) X2)A(r2_relset_1
X0 k7_numbers (k4d-mesfuncb X0 k7_numbers X4 X6) (k2_partfunl X0
kE7_numbers (k4-mesfuncd X0 k7_numbers X3 X6) X2))))))=(rl-mesfuncl
X0 X1 (kd-mesfuncd X0 k7_numbers X4 X5) X2)))))))



